ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI- 29 STORES SECTION (DO)

Ref. No. 05/SO(DO)/PCCSM/PAC/23-24/M&E

Subject: Purchase of Immuno CAP & Elisa test System on Proprietary basis-inviting comments thereon.

On specific requirement of Deptt. of PCCSM, Store Section (DO) is in the process of procurement of Immuno CAP & Elisa test System on Proprietary basis from M/s ThermoFisher Scientific. (Through M/s. Manvy Pharma). Following documents have been uploaded.

- 1. Technical Specification duly signed by TSEC.
- 2. Departmental PAC Certificate
- 3. PAC cum compatibility Certificate (By the firm)
- 4. Performa Invoice from principle/authorized distributor M/s Manvy Pharma.
- Manufacturer's Authorization Certificate by M/s. TherFisher Scientific in favour of M/s Manvy Pharma.
- 6. GEM non availability Certificate.
- 7. Declaration regarding Make in India.
- 8. Land Border Declaration.
- 9. Fall clause undertaking

Now, in view of the above, the said proposal is uploaded on AIIMS website for period of 15 days with the view to invite objections w.r.t. proprietary nature of the product from the OEC's or their authorized distributors. The comments/objections if any should be received in office of Store Officer (FSC), Store Section (DO), Animal House Building, Near Biotechnology Building at AIIMS on or before 17.11/2023 upto 12:30 P.M. failing which it will be presumed that any other vendor is having no comment to offer and case will be decided purely on merit.

(MANOHAR ARYA) STORES OFFICER (D.O)

Date: 02.11.2023



Qty: 01 Specificaions of ImmunoCAP and Elia Tests System

Qty 01 No.

Approx. Cost: 46 lakhs

- 1. A benchtop instrument to aid in the diagnosis of allergic and autoimmune disease for laboratories with limited space. It must provide fully quantitative results of clinically relevant antibodies and based on fluorescent enzyme immunoassay (FEIA technology).
- 2. The specific IgE assay should have Gold standard technology which is an in-vitro quantitative assay for measurement of allergen specific IgE.
- 3. Batch workflow with >42 samples, >48 Autoimmunity tests >96Allergen tests.
- 4. System should run both autoimmunity and Allergy tests on the same platform.
- 5. Automation with Reagent and sample scanning with traceable 96 position carrier loading trays and on-board dilution.
- 6. Should be calibrated according to the WHO standards.
- 7. System should have storage of calibration curves for atleast 28 days.
- 8. System should be able to perform dispensing, washing, incubation and reading on the same instrument, and take care of evaporation control and external light elimination during incubation.
- 9. System should have automatic sample and on-board dilution facility capacity.
- 10. System should have touch screen for easy operation, minimal space requirement, easy to move within and between labs.
- 11. System should be network connected :- integration into Lab IT infrastructure, LIS connection for rapid and safe transfer of sample information and results, Connected to instrument software on external PC for easy stock management and ordering, software connection for remote troubleshooting support.
- 12. Daily throughput:- Allergy -2 x 96 results per day/Autoimmunity -2 x 48 results per day.
- 13. System should have automatic cap dispensing, simplified maintenance, stand-alone or external PC connection option. े डॉ. विकास एच./Dr. VIKA
- 14. System should have large touch screen display to control all functions of the unit of
- 15. The system should have CE/US-FDA/ISO certifications.
- 16. Should be supplied with compatible external computer system
- 17. Should be supplied with compatible UPS with back up of 1 hour.
- 18. CMC/AMC should be provided as per AIIMS rules.
- _19. Rate list of consumable reagents should be provided.

WARRANTY:

Department of Pullibriary, Chilical Cate & Sleep Medicing As per AIIMS rules and should be quoted with 5-year comprehensive warranty (including all espansions) batteries, circuit and other accessories) and another five years of maintenance warranty. It will be the responsibility of the company to keep the equipment functional till the warranty of the equipment. Anything required for smooth functioning of the equipment like spares parts accessories, battery, circuit etc. will be provided by the firm free of cost ().

Department of Pull Motory, United Sciences
All Indicational Sciences

Varie & Sleep Medicine

at and sire, the counts is

सहार्ख्य अर्थे वार्य/Assistant Prof प्रशासन/Hospital Administ:

अ.भा.आ.सं. नई दिल्ली/A.I.I.M.S. New D

- The cost of additional accessories should quoted in the price bid which will be used to calculate L1.
- Prices of all the spare/accessories required for maintenance of the equipment should be quoted along with the price bid. If the firm fails to provide price of any part/accessories in the price bid the same will be provide free of cost by the company if required.
- Company will be responsible to maintain equipment and accessories in working condition irrespective
 of the cause/reasons/conditions/nature for not working of the equipment/accessories. Company will
 replace all the required parts/spares /accessories, labour/service during WARRANTY/CAMC period
 without any extra charges/taxes" (including and not limited to physical damage).
- In case of any breakdown, fault, repair should be undertaken within 48 hours of receipt of such information. Failure to do so shall make the company liable for a penalty of Rs. 1000/- per day.

Register and Assistant Political Commission of the Commission of t





Department of Pulmonary, Critical Care & Sleep Medicine AIIMS, New Delhi

To Whom It May Concern:

It is to certify that the Technical Specifications for "Immuno CAP & Elisa Test System - 01 no." are general, broad based and not suite to any particular company/brand.

An mula Institute of New Delhi - 110025

Saula Control Million Control

 \mathcal{C}



डॉ. विकास एज. Dr. प्राप्त कार्या Assistant Program अन्नयं Assistant Program अन्नयं Assistant Program अन्नयं Assistant Program अन्नयं Assistant Administration अन्यास्त्र (Assistant Administration) अन्यास्त्र (Assistant Adm

ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI-110029

PROPRIETORY/ SPECIFIC BRAND GOODS CERTIFICATE

Immuno CAP & Elisa Tests System Item/Type/Model No. required 1.

Is the item a spare parts attachment 2. or accessory for an existing equipment. Yes

Name of the manufacturers/supplier 3. of the item proposed by the Indentor. M/s Manvy Pharma. Unit 30/48 Dside Complex Mayur New Delhi-110015

Are they sole manufacturers/sold 4. distributors of the item.

Yes (as the certificate provided by the firm)

Is there any other item with similar/ 5. specification available in the market to meet the job requirement envisaged, if the answer is yes, why the same can't be procured. Demanding officer should bring out comparative functional advantages/cost effectiveness of the recommended item from these offered by other.

Νo

What were the efforts made to locate 6.1 alternative source of supply or use other substitutes.

Why open/limited tender can't be 7. resorted to, for locating alternative source.

As the firm is sole Proprietor

Are the proprietary items certifying 8. that the rates are reasonable or not.

Yes the rates are reasonable

Any other justification for procuring 9. item from single source.

No

(Demanding Offices)

ાં અને તે કે મુક્ષાના અને પ્રાપ્ત કરેલી પ્રાપ્ત કરેલી તે કે મુક્ષાના આપ્યાં આપ્યાં આપ્યાં આપ્યાં આપ્યાં આપ્યાં Than secure આપ્યાં આ આપ્યાં આપ્યા I certify that the nem at Sr. No. I above is required to be procured on single tender basis as the supply is definit known/ the specified brand proposed was advantages in meeting our functional requirements and limited tender system co be dispensed with as they would serve no useful purpose in this particular case.

(Strike out whichever is not applicable)





RATE QUOTATION

Dated 10/02/2023

Ref.No.MP/098/2023

To HOD, Department of Pulmonary Medicine, AllMS, Ansari Nagar, New Delhi.

Subject: Rate Quotation for New Phadia 200 System.

Dear Sir,

Please find below Rate quotation for Phadia 200 System with Five Year Warranty,

S.No	Product	HSN Code	Article No.	Qty	Price in INR (Excl. GST)	GST@ 18%	Total Value (incl. GST)	
01	Phadia 200 system (With 5 Years of warranty)	90278990	12-4300-00	1	48,50,000.00	8,73,000.00	57,23,000.00	
<u>()</u>					то	TAL AMOUNT	48,50,000.00	
"			,		TOTAL GST@18 % 8,73,000.00			
Bs. Fif	Bs. Fifty Seven Lakh Twenty Three Thousand Only					GRAND TOTAL with GST		

Ähanking You,

Regards,

(VEJAY YADAV) (M) 9910395810

Stone M. Diffie DOD PID

Ms. Suderh

My. Suderh

MD, PhD, FAMS, FRCP (LONDON) Professor & Head

Department of Pulmonary, Critical Care & Steep Medicina

All India Institute of Medical Sciences New Bolls: 110029

10.02.2023

Phadia 200 (ImmunoCap Instrument)

Dear Sir,

The Cost of instruments is approx 48.50 Lakhs + taxes with five years warranty.

The CMC cost for after 5 years warranty will be as follows-

8% of the cost of instrument 1. Sixth Year

8 % of the cost of instrument 2. Seventh Year

8% of the cost of instrument 3. Eighth Year

4. Ninth Year 10 % of the cost of instrument

10 % of the cost of instrument 5. Tenth Year

Department of Pulmonary Medicine All India Institute of Medical Sciences Ansari Nagar, New Delhi-110029

Subject: - Consumables Reagents & ImmunoCap for Allergy Testing for Phadia 200 Systems

S. No.	HSN CODE	ART NO.	Nomenclature	PACK	Rate (Excl GST @12%	Annual Requirment	Annual Value	Ten Years Requiremen
		 	System Reagents* for Phadia200					<u> </u>
	<u> </u>						55555.00	400
1		-	Development Solution	6x315	11845.31	48	568574.88	480
2		_	Stop Solution	6x185	6890.63	36	248062.68	360
3	 		Washing Solution	2 x 5 L	4754.00	96	456384.00	960 20
4			Maintainance Solution	6 Procedures	23150.00	2	46300.00	20
5	38220090	12-4302-00	Dilution Plate	100	17609.80	2	35219.60	20
			Test to be performed for Total IgE					
6	38220090	10-9319-01	Total IgE Conjugate 100	6 x 100	2853.50	24	68484.00	240
7	38220090	10-9387-01	Total Ige Calibrator Strip	5x1 Curve	4823.44	15	72351.60	150
8	38220090	10-9325-01	Total IgE Curve Control Strip	5x3 Pairs	3750.00	25	93750.00	250
9	38220090	1 <u>4-</u> 4509-01	Total IgE Anti- IgE	16 Cap	5181.27	840	4352266.80	8400
10			Immunocap IgE/ECP/ Tryptase Sample Diluent	6x20ml	36020.40	2	72040.80	20
11	38220090	10-9447-01	Total IgE Control LMH	3x2x4	11718.75	4	46875.00	40
			Test to be performed for Specific IgE					
12	38220090	10-9316-01	Specific IgE Conjugate 100	6x100	59822.00	24	1435728.00	240
13	38220090	10-9459-01	Specific IgE Calibrator Strip	5x1 Curve	21285.94	15	319289.10	150
14	38220090	10-9312-01	Specific IgE Curve Contro strip	5x3 Pairs	12187.55	25	304688.75	250
15	38220090	10-9541-01	IgE/ECP/ Tryptase Sample Diluent	6x20ml	36020.40	2	72040.80	20
16	38220090	14-4417-01	Specific IgE Anti IgE	16 Cap	1473.56	60	88413.60	600
17	38220090	10-9445-01	Specific IgE Negative Control	6x4	11600.00	4	46400.00	40
			ImmunoCap Speicific IgE Control L	6 X 4	11600.00	2	23200.00	, 20
19	38220090	10-9529-01	ImmunoCap Spelcific IgE Control M	6 X 4	11600.00	2	23200.00	20
20	38220090	10-9530-01	ImmunoCap Speicific IgE Control H	6 X4	11600.00	2	23200.00	20
			Test to be performed for Specific IgG					
21	38220090	10-9318-01	ImmunoCap Speicific IgG Conjugate 50	2X50	13543.00	36	487548.00	360
22			ImmunoCap IgG Calibrator Strip	1 Curve	5166.52	12	61998.24	120
23			ImmunoCap Specific IgG Curve Control Strip	3 pairs	3573.70	24		
24			ImmunoCap IgA/IgG Calibrator Immuno CAP	16	5696.00		85768.80	240
25			ImmunoCap Specific igG Sample Diluent	6x20ml	30054,70	15	85440.00	150
26			ImmunoCap Specific IgG/IgG4 Control L			2	60109.40	20
_			ImmunoCap Specific IgG/IgG4 11 Control H	6x4	47252.40	2	94504.80	20
27 I	しておううののない!			L CuA	477E2 40 I	•		
27				6x4	47252.40	2	94504.80	
28		10-9500-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests	6x4 6x4	47252.40 47339.88	2 2	94504.80 94679.76	20
28	38220090	10-9500-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests	6x4	47339.88	2	94679.76	20
28	38220090 38220090	10-9500-01 14-4160-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam	6x4 16 Cap	47339.88 3226.00	2	94679.76 3226.00	20
28 29 30	38220090 38220090 38220090	10-9500-01 14-4160-01 14-4105-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum	6x4 16 Cap 16 Cap	47339.88 3226.00 3226.00	2 1 1	94679.76 3226.00 3226.00	20 10 10
29 30 31	38220090 38220090 38220090 38220090	10-9500-01 14-4160-01 14-4105-01 14-4119-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus	16 Cap 16 Cap 16 Cap	47339.88 3226.00 3226.00 3226.00	1 1 960	94679.76 3226.00 3226.00 3096950.00	10 10 10 9600
29 30 31 32	38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00	1 1 960	94679.76 3226.00 3226.00 3096960.00 3226.00	10 10 9600
29 30 31 32 33	38220090 38220090 38220090 38220090 38220090 38220090	10-9500-01 14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	1 1 960 1	94679.76 3226.00 3226.00 3096960.00 3226.00 3226.00	10 10 9600 10
29 30 31 32 33 34	38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01 14-4106-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1	94679.76 3226.00 3226.00 3096960.00 3226.00 3226.00 3226.00	10 10 9600 10 10
29 30 31 32 33 34 35	38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01 14-4106-01 14-4920-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata M36 - Aspergillus terreus	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1 1	94679.76 3226.00 3226.00 3096960.00 3226.00 3226.00 3226.00 3226.00	10 10 9600 10 10 10
29 30 31 32 33 34 35 36	38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01 14-4106-01 14-4920-01 14-4831-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata M36 - Aspergillus terreus M207 - Aspergillus niger	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1 1 1	94679.76 3226.00 3296.00 3096960.00 3226.00 3226.00 3226.00 3226.00 3226.00	10 10 9600 10 10 10 10
29 30 31 32 33 34 35 36 37	38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4120-01 14-4120-01 14-4106-01 14-4920-01 14-4831-01 14-5342-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata M36 - Aspergillus terreus M207 - Aspergillus niger M 228 -Aspergillus flavus	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1 1 1	94679.76 3226.00 3226.00 3096960.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	10 10 9600 10 10 10 10
29 30 31 32 33 34 35 36 37 38	38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01 14-4106-01 14-4920-01 14-4831-01 14-5342-01 14-5321-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata M36 -Aspergillus terreus M207 - Aspergillus niger M 228 -Aspergillus flavus M -227 Malassezia spp	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1 1 1 1 1	94679.76 3226.00 3226.00 3096950.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	10 10 9600 10 10 10 10 10 10
29 30 31 32 33 34 35 36 37 38 39	38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090 38220090	14-4160-01 14-4105-01 14-4119-01 14-4145-01 14-4120-01 14-4106-01 14-4920-01 14-4831-01 14-5342-01 14-4896-01	ImmunoCap Specific IgG m3 Control H COMMON ALLERGENS for IgE & IgG Tests M1 - Penicillium notam M2 - Cladosporium Herbarum M3 - Aspergillus fumigatus M4 - Mucor racemosus M5 - Candida aibicans M6 - Alternaria alternata M36 - Aspergillus terreus M207 - Aspergillus niger M 228 -Aspergillus flavus	16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap 16 Cap	3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	2 1 1 960 1 1 1 1	94679.76 3226.00 3226.00 3096960.00 3226.00 3226.00 3226.00 3226.00 3226.00 3226.00	10 10 9600 10 10 10 10 10

Unit # 30/48, DSIDC COMPLEX, OPP. POLICE STATION, MAYUR VIHAR PHASE LEGET 110091

Tel.: 011-43042240, Telefax: 011-2275877, Mobile: 9910303645 - Email: manvypharma@gmail.com - manvypharma@yahoo.co.in



. No.	Specification of Quoted Model- Phadia 200				
	Automation in a benchtop instrument to aid in the diagnosis of allergic and autoimmune diseases for laboratories with limited space. It must provides fully quantitative results of clinically relevant antibodies.				
	Based on fluorescent enzyme immunoassay (FEIA technology).				
3	The specific IgE assay should have Gold standard technology which is an in-vitro quantitative assay for measurement of allergen specific IgE.				
5	Batch workflow with 42 samples ,48 Autoimmunity tests or 42 samples ,96 Allergen tests				
6	System run both autoimmunity and Allergy tests on the same platform System run both autoimmunity and Allergy tests on the same platform test dispensing,				
7	Automation with Reagent and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning, Traceable 96 position carrier loading trays thintened and sample scanning trays the sample s				
8	Should be calibrated according to the WHO standards.				
9	System has 28 days storage of calibration curves. System is able to perform dispensing, washing, incubation, and reading on the same instrument, and take care of evaporation control and external				
10	System is able to perform dispensing, washing, incubation, and reading on the same instrument, and light elimination during incubation.				
11	System has automatic sample and on-board dilution facility capacity.				
12	Stand-alone operation:- Phadia TM Prime interface and touch screen for easy operation, Minimal space requirements, Easy to move within the pattern of the street labs.				
13	Network connected:- Integration into Lab IT infrastructure, LIS connection for rapid and safe transfer of sample information and results, Connected to Instruemnt software on external PC for easy stock management and ordering, Software connection for remote troubleshooting and				
14	daily throughput:- Allergy - 2 x 96 results per day / Autoimmunity - 2 x 48 results per day				
15					
16					
17	Simplified maintenance. Stand-alone or external PC connection option				
19	Large touch screen display to control all functions of the unit.				

\\\

Conor

Jan

Mu

Charley





ThermoFisher SCIENTIFIC

The world leader in serving science

Uppsala, July 26, 2022

To Whom It May Concern

Ref: DocID 631376

Confirmation of proprietary of ImmunoCAP Product range

This is to confirm that ImmunoCAP is a proprietary product, based on FEIA technology and that recombinant allergens (i.e. individual allergens produced as recombinant proteins) are used as raw material for some products, exclusively manufactured by Phadia AB, Rapsgatan 7P, P.O. Box 6460, 75173, Uppsala, Sweden and marketed exclusively by authorized distributors & subsidiaries.

The suitable range of ImmunoCAP products are available in India via Thermo Fisher Scientific India Pvt. Ltd., having their corporate office at 403 - 404, Delphi - B wing, Hiranandani Gardens Powai, Andheri (E), Mumbai -400076. India & Regional office located at Unit #7, Splendor Forum, Plot #3, District Center, Jasola, New Delhi -110025.

Sincerely,

Jenny Nystrand

Regulatory Affairs Manager

Regulatory Affairs ImmunoDiagnostics

Phadia AB

Phadia AB Rapsgatan 7P P.O. Box 6460 751 37 Uppsala Sweden

Phadia AB

Rapsgatan 7P, P.O. Box 6460 751 37 Uppsala, Sweden

Jenny Nystrand Regulatory Manager

www.thermoscientific.com/phadia





Thermo Fisher SCIENTIFIC

Uppsala February 7, 2022

To Whom It May Concern

Ref: DocID 754627

Confirmation of proprietary of Phadia 200 and Phadia 250 Instruments

This is to confirm that Phadia 200 and Phadia 250 are proprietary products, based on FEIA Technology exclusively manufactured by Phadia AB, Rapsgatan 7P, P.O. Box 6460, 751 73, Uppsala, Sweden and marketed exclusively by authorized distributors & subsidiaries.

The Phadia 200 and Phadia 250 products are available in India Via Thermo Fisher Scientific India Pvt. Ltd. located at Unit # 7, Splendor Forum, Plot # 3, District Center, Jasola, New Delhi – 110025 India

Sincerely,

Peter Löwendahl Manager Global Regulatory Affairs Phadia AB

Rapsgatan 7P, P.O. Box 6460 751 37 Uppsala Sweden

Peter Löwendahl Manager, Global Regulatory Affairs

Phadia AB Rapsgatan 7P P.O. Box 6460 751 37 Uppsala Sweden +46 18 16 50 00 Phone +46 18 14 03 58 Fax www.thermoscientific.com/phadia

Jam

Dr. Mars acressins



The world Leade in serving science

15 June 2022

To, The HOD, Department of Pulmonary Medicine AIIMS, Ansari Nagar, Delhi-110016.

Subject: Authorization the for the supply of Phadia-100 (ImmunoCAP) Lab Consumables.

Dear Sir.

Thank you for considering Thermo Fisher Scientific Immunodiagnostic division products for Invitro Allergy testing by ImmunoCAP technology on Phadia-100 system.

In the reference above mention subject, we would also like to inform you that M/s MANVY PHARMA is our Sole authorize distributor for the supply of IDD-SDG (Phadia100) Thermo Fisher Scientific range of consumables items. Details as follows:-

Distributor Name & Address	Authorization for Product Line
M/s MANVY PHARMA Unit # 30/48, DSIDC Complex Mayur Vihar Phase-1 New Delhi-110015 Ph; 011- 43042240, Mobile; 9910395810, 9910303650 E-mail;- manvypharma@gmail.com GSTN: 07AAHPY7884R1Z9 Contact person: VIJAY YADAV	Authorize only for IMMUNODIAGNOSTIC-SDG, Thermo Fisher Scientific (PHADIA-100) range of products to Department of Pulmonary Medicine, AllMS, Delhi
EMAIL ID : manvypharma@gmail.com	

M/S MANVY PHARMA whose EMAIL ID is manvypharma@amail.com is authorized to participate in ebidding process of the institute for Phadia100's consumables products on our behalf. Also, M/s MANVY PHARMA is authorised to supply the Reagents and Allergens for Phadia 100 system

Validity of the Authorization: 31 March 2023

We request you to please accept the same.

‡edia Pvt Ltd. For Thermo Fisher

Shail Dholabhai

Sales Head - Immuno Haginestics, India & South Asia

Mumbal -76

www.thermofisher.com

Registered Office: Thermo Fisher Scientific India Pvt. Ltd.

403, 404, Delphi B Wing. Hiranandani Business Park

Powar, Mumbar - 400 076. India

+91-22-6716 2200 tel +91-22-6716 2244 fax 1800222230 toll free number

CIN U73100MH2000PTC126872









Report ID: GEM/GARPTS/05112022/B4KJHS5HW1PU

Report Name: immuno cap & Elisa test

Generated By: Vijay Hadda, Department of Health and Family Welfare, Ministry of Health and Family

Welfare

Generated On: 05/11/2022

Valid till: 05/12/2022

GeM Availability Report and Past Transaction Summary

GeM Availability Report and past transaction summary report is generated based on the specifications searched by the Buyer. The specification may be modified appropriately for searching relevant categories on GeM. Buyer may navigate to GeM category page by clicking on the category link to view category specifications and products/services available in the category.

Order Count and Order Value displayed is on a cumulative basis since GeM inception.

1. Search String: immuno cap & Elisa test

Search type: Product

- 1. There are categories available on GeM matching your requirements (as listed here). You can create a bid on GeM with a product closest matching your required specifications and add additional parameters in specifications through Corrigendum using RMS functionality.
- 2. If you feel that category TP needs updating you can submit category updating request also through RMS.
- 3. If you do not want to use any of the above option and want to proceed for procurement outside GeM, please suggest the specifications of the required product for creation of new category on GeM for future procurement.

Search Result: Category available/suggested on GeM but marked as "not matching requirements" by the buyer with undertaking as under:

It is certified that I have thoroughly checked all probable categories suggested by GeM and I am satisfied that the product required is not covered / does not fall in any of the suggested categories and can not be procured under any of these categories even after inclusion of List of Values(LOV) wherever possible in category specifications of suggested categories. It is also certified that the technical specification requirement are such that these can not be covered even by adding specification parameters using ATC in any of the GeM suggested categories. This is a one-time requirement hence new category creation is not proposed / or requirement is recurring but request for new category creation will be submitted separately post generation of GeMARPTS.

Gom-

Nam

Jan

w/

SP.





DECLARATION FOR LOCAL CONTENT FOR PHADIA 200

Dated 06.03.2023

To
The Head of Department,
Department of Pulmonary Medicine,
All India Institute of Medical Sciences,
Ansari Nagar, New Delhi-110029,

Ref.No.MP/098/2023

Subject : In-vitro Allergy / Autoimmunity Testing System - ImmunoCap (Model: Phadia 200)

Dear Sir,

This is refers to In-vitro Allergy / Autoimmunity Testing System- ImmunoCap (Model: Phadia 200,I wish to declare that Phadia 200 instrument in an imported product from Sweden, and imported & marketed by Thermo Fisher Scientific India Pvt. Ltd.

Other accessories required for the system like UPS, Computer, printer etc are local products of different companies and form a part of the Phadia 200 system. Therefore the total Phadia 200 system has following approximate content —

1. Phadia 200 instrument

75 %

2. Accessories like Desktop, Printer, Paper Rolls, UPS.

25 %

Assuring the best of our services.

Thanking You,

Yours Sincerely,

For MANVY PHARMA

VIJAY YADAV

(M) 9910395810

Dr. Files Feet Sections

No. Professor Control Services

No. P

Dr. Vijay Hadda Dr. Vijay Hadda MO (Medizine), FCCP (USA), FISCOM Nullitional Professor Additional Professor & Steep, Maddin Collection of Pulmones, New York, 113020 Repertment of Number of Medical Sciences, New York, 113020



Land Border Sharing Declaration

To The Head of Department, Department of Pulmonary Medicine, All India Institute of Medical Sciences, Ansari Nagar, New Delhi-110029,

Dated 06.05.2023

In-line with Department of Expenditure's (DoE) Public Procurement Division Order vide ref. F.No.6/18/2019-PPD dated 23.07.2020 & 24.7.2020

Ref.No.MP/098/2023

I have read the clauses pertaining to Department of Expenditure's (DoE) Public Procurement Division Order (Public procurement no 1, 2 & 3 vide ref. F.No.6/18/2019-PPD dated 23.07.2020 & 24.7.2020) regarding restrictions on procurement from a bidder of a country which shares a land border with India. I hereby certify that I the bidder M/s MANVY PHARMA, 30/48 DSIDC Complex, Opp. Police Station, Mayur Vihar-I, Delhi-110091 is -

- a) Not from such a country and eligible to be considered for this tender. We have no business dealing with these countries.
- b) We have no dealing with any country sharing a land border with Indid.

For and behalf of

VIJAY YADAV (Authorized Signatory)

(M) 9910395810

Dr. Vijay Hadda AND (Medicine), FCCP (USA), FISCCM Department of Pulmonary, Chilical Care & Sleep Medicine Additional Professor All India Institute of Madical Sciences, New Delhit-110029

MD, PhD, FAMS, FRCP (LONDON) Department of Pulmonary, Critical Care & Stoep Medicine All India Institute of Medical Sciences цем Delhi - 110029





Dated 06.03.2023

To
The Head of Department,
Department of Pulmonary Medicine,
All India Institute of Medical Sciences,
Ansari Nagar, New Delhi-110029,

UNDERTAKING (FALL CLAUSE)

Dear Sir,

I, Vijay Yadav Proprietor M/s Manvy Pharma hereby undertake that if any reductions in ours price or sells or even offers to sell the contracted goods of identical specification and terms and conditions to that of the contract, at a price lower than the contract price, to any person or organization during the currency of the contract the contract price will be automatically reduced with effect from that date for all the subsequent supplies under the contract and the contract amended accordingly. Any excess amount charged will be deposited back.

Thanking You,

Yours Faithfully,

For MANVY PHARMA

VIJAY YADAV

Dr. William Chical Care & sleep Medicine
Professor & Head
Professor & 110029
Nepartment of Pulmonary, Critical Care & sleep Medicine
New Delhi - 110029